
RPL/PPL Volume 2
Private Pilot Licence (PPL)

SUPPLEMENT

Pitts Special  VH-SIE

Bob Tait’s Aviation Theory School



Piper Pacer  VH_MBT



Page 1



4

TAKEOFF CHART TYPE 1
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LANDING CHART TYPE 1
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Take-off Chart type 2 - Linear Take-off chart
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Landing Chart type 2 - Linear Landing chart
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Another example
An aircraft with a Charlie loading system is loaded at take-off as follows:
Gross weight 1050 kg Moment Index 31668.

Find the minimum amount of weight that must be off-loaded from the baggage compartment to
place the aircraft within the centre of gravity limits [Fig 1.27].

Solution :
The centre of gravity at present is 31 668 x 100 ÷ 1050 = 3016 mm aft of the datum. Plot this
point and call it point A. This is outside the aft limit of the centre of gravity envelope. Subtract
any convenient weight from the baggage compartment [say 100 kg].*

	 ITEM 			  WEIGHT 		  ARM 		  MOMENT
Present condition 		  1050 			   3016 		  31 668
Subtract from baggage* 	 -100 			   4210 		  -4210
New condition 		  950 			   2890 		  27458

The centre of gravity position is now 27 458 x 100 ÷ 950 = 2890 mm aft of the datum. Plot this
point and call it point B. Join point A to point B and note the point where this line crosses the
back of the envelope. Estimate the weight loss this represents on the weight scale. It is about 10
kg. So 10 kg must be off loaded from the baggage compartment.

Fig 1.27
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